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SECTION - A
i) General Awareness

1. Which Amendment to our Constitution

FETFEE i ive
—_——— mm

6. The capital city of Chalukya was

added Ninth Schedulg ?
(A} 1% Amendmeant

(B) 7 Amendment

(C} 9% Amendment

(D) None of these

Matyashastra, in which all performing
arts are well structured is a work of

(A) Bhavabhooti

(A) Srirangapatna
(B) Badami

(C) Madhurai
(D) Kanchipuram

i

The-ariginal inhabitarts of India were
(A) Sikhs
(B) Mughals

(B) EBhasa {C) Dravidians
(C) Bharatamuni (D) Christians
(D) Kalidasa

December 22, the day on which
genius Srinfvas Ramanujan was born
would be celebrated as

{A) National Members Day

(B) Mational Mathematics Day
(C) Numerical Mathematics Day
(D) National Science Day

was the sculptor of Indian
Foreign Policy.

{A) Mahatma Gandhi

(B) K.M. Munshi

(C) B.R. Ambedkar

(D) Pandit Jawaharlal Nehru

Security Council of UNO consists af

4. Myanmar iz the new name of permanent members.
(A) Mali (B) Bali |A) 3 (B} 4
(C) Burma {D) Bhutan (C) & (D) &
3. Ashwaghosha who lived in the court The first Railway train in India ran in
ofking_  wrote Buddhacharita, 1853 from Bombay 1o
(A) Kaniska (A) Thane
(B) Babar {B) Poona
(€) Vikramaditya (C) Magpur
(D) Ashoks (O} Ahmedabad
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two mirrors placed parallel to each
othar, how many images will be
formed 7

(A} 2 e 4
(C) 6 (D) Infinite
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LI
E 11. Which State is called the “Cradle al 16. BJP President Amith Shah named
Bl Buddhism” 7 8. S. Yediyurappa-Ex-C.M. of
_:i ) Karmataka as of BJP.
il (A) Sikkim (B) Bihar
AL () NP (A) National General Secretary
o Ve F DT (B) National Vice-President
12, Who is regarded as the pioneer of (C) Secretary
White Revolution in India ? (D) Spokesman .
(A} Dhiru Bhai Ambani
Prime Minister Modi dedicated
(B) Varghese Kurian warship to the nation and
(C} Swaminathan inducted it officially to Naval Force on
, 16-8-2014.
(D) S. K. Birla
(A) INS Kolkata
13, The Asian Games are organised after (B) INS Mumbai
every _____Yeals. (C) INS Kochi
(A) 5 (D) INS Chennai
®) 2 ]
() 3 India's 29 Etﬂ.la is
(A) Andhra Pradesh
(o) 4
(B) Telangana
14. Who wrotes the line “A thing of beauty ({C) Odisha
is a joy for ever” ? (D) Jarkhand
(A) P.B. Shelley
. In making the saffron spice, which one
(B) Wiliam Wordsworth of the following paris of the plant is
{C) John Keals used 7
(D) Robart Browning (A) Leat (B) Patal
(C) Sepal (D) Stigma
15, When an objec! is placed between

Mahamastakabhisheka, a greal
religious event, is associated with and
done for

(A} Bahubali
(C} Mahavir

(B) Buddha
(D) Mataraja
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21.

22.

% and Y are brothers, Z is sister of
X, P is brother of Q, O is daughter of
Y. howis X related to P ?

(A) Father
{B) Uncle
(C) Brother

(D) Grandiather

Let a number with three digits has for
its middle digit the sum of the other
two digits, Then it is & multiple of

(A) 11
(B) 10
(C) 18
(C) 50
A man is facing South. He tums 135"
In the anticlockwise direction and

theri 180° in the clockwise direction.
The direction he is facing now is

{A) North-East
(B) North-West
(C) South-East
(D) South-West

24,

28.

Jnu-zm-ms'rm-g

i) General Intelligence and Reasoning Ability

Mangala s talier than Neela but as
lall as Pushpa. Asha is taller than
Sapna but not so fall as Neela. inthis

group wha is the shorest 7
(A) Mangala .

(B} Sapna

(C) Pushpa

(D) Asha

The average score of thres boys in
Mathematics is 30. When the score
of a tourth boy is added to the total
score of the three boys, the average
s lowered to 25. What is the score of
the fourth boy 7

(A) 15
B) 10
(C) 20
(D) 25

lf3A=56Band3B=4C, A:B.C="7
(A} 12:9:20
(B) 12:20:9
(C) 20:12:9

(D) 9:20:12




&
‘-- 21,

22, TH

24.

JDD-25/PGT-HIST/X-14

i) v AfEE T AT A

ofs ¥ atw Y W 2, Z TR ¥ W T
P Qe T B, QUE yEFARD,
st PE AR ?

(A) T

(B) ==l

24. W#ﬁﬁﬁ%ﬁﬁﬁwmﬁ

H%!mmﬁﬁﬁﬂiﬂﬁﬁ:ﬂw
ﬁaﬁhﬁqﬁ%tﬁwﬁmﬁm

HwHE?
(A) T
(B) = v

(C) ™
(D) =wT

i 3 e o afwE A 30% | 9=

iﬁaﬁ'ﬁaﬂmeﬁﬁﬁﬁ%@aﬁ
ﬁﬁaﬁaﬁi,ﬁﬂzﬂuﬂzﬁﬁmﬁ
< d | it e 3 s PR 4 7

(A) 15
(B) 10
(©) 20
(D) 25

. gfi3p=5B3M3B =4CE M

A:B:C=7

(A} 12:5:20
(B) 12:20:9
(C) 20:12:8

(D) 9:20:12




27, Thesumottheincomesof AandBis

more than that of C and D taken
together. The sum of the incomes of
A and C is the same as that of B and
D taken together. Moreover, A earns
halt as much as the sum of the
incomes of B and D. The highest
Income is of

(A) A
(B} B
(C) C
(D) D

A man walks 10 m to the North, again
tumning to right he walks 10 m then
tumning to left he walks 5 m, again
turming to left he walks 15 m and again
turning to left he walks 15 m, What is
his distance from the starting point ?
{A) 10m

(B) 1&m

(C) 5m

(B) 50m

Find the next number in the series -
1,2,4,7,11, 18,227

(A) 29
(B) 28
{C) 30
(D) 27

31.

32.

JDD-25/PGT-HIST/X-14
A basket confains different colourad -
flowers. Colour of all but 8 is rose,
colour of all but 8 is red, colour of all
but 6 is white. What is the total number
of flowers in the basket 7

(A) &

(8) 12

{C] 18

(D) 9

It all the numbers from 501 to 599 are

written, what Is the total number of
times does the digit 6 appsar ?

(A) 11

(B) 12

{Cy 20

(0 None of these

A person has to nmrpietaiy put each
of three liquids 21 litres of patrol,
35 litres of diesel and 42 litres of
kerosing oil in bottles of equal size
without mixing any of the above three
types of liquids such that each botile

is properly filled: Whal is the least
possible number of botties required ?

(A) 14
(B) 25
(€) 13
(D) 26
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A 3 B 1 s =g G 3 DH
¥ se @ e 81 A SHCH
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wifirn e TE

(&) A

(8) B

) C

{D) D

A TEH 3R 3R 1091, = E, T
affee siv e o 10 1. e &
AT S 5. Tl &, T =t
St g 15 H. Fer § 2 o e
+R O 70 16 Hi. dem &1 RN
frg & o e R G W R ?

(&) 10T,

(B) 15HL.

(C) st

(D) 507,

e ) el s A AR
{.2.4 7.11,168.22.7

(A) 29

(8) 28

() 30

(D) 27

A1-
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a0, T Tty G e § 9 A

31.

e it e T F 2, TR o
i 3, we A o ad TR
3 e A e EE e ?

(A) B

{B) 12

{C) 18
(D) @

a2 501 # 599 e, ferdl S & 7
Forerf a6 1 3%, T 3 7

(A 11

B) 12

(C) 20

(D) ¥ # =S e

e =fE F 21 T 1w, 36w
Farrer afn a2 e fdl = e, AR

R o 2E A e B, O W

i S e o 9 O a6
i @ w5 T 2 ) s
siioe 3g fer Haeft v 7

(A) 14

(B) 25

({C) 13

(D) 26




53, Findihe misging item in the following
garias from the alternatives provided.
4.7, 11,18, ng. 47,7, 123, 188
(A) BT
B 7
(C) T6
D) B2
a4, PRINCE ECNIRP ! ACTIVE .7
(A) EVITAC
(B) EVITGA
(C) VEITCA
(D) EVTICA
g, if'-' means ot ' means 4
means ‘%" and v3* means ', what
s the value of 20 - §wd 43 16=1
(A 18
B} 63
(c) 12
Dy 0
g, Findihe word which cannot be made

A

hmﬂtm!e#ﬂrsnimquEnwnrd:
CREATIONS
(A ACTION
(B) REASON

(C) ARSON

Jnu-zamT HIST/X-14
A
In a certain code, ‘nil in sea’ means =
‘how &re you', 'elb nil sea’ Means

«where ane you'. \What is the code for
how! ?
(A) ses

a7

(B) elb
() il
(OY tin
Directions (Qs- 48 to 40) : Choosse the

afternative which G0es not belong to the

group to which {he other three belong:

ag,  (A) Arjuna
(B) Bheama
(C) Sahadeva

()] Duryodhana

(A 20
(B} 18
(c) 18
@) 16

29.

40. [(A) Chlorine
(B) Oxygen
(C) lron

(D) SEPARATE

(D) Hydrogen




33.

35.

36.

Fe=t spmen A, il vt Fermendt -8 sy

4,7,11,18,29,47, 7,123, 199
(A) 87
(B 71
©) 76
(D) B2

PRINCE : ECNIRP : : AGTIVE : 7
(A} EVITAC
(B) EVITCA
{C) VEITCA
(D) EVTICA

I mmmE e, o w e

L' o e B *:':Q_F'It-*ﬂ-"ﬂil
TIARE W20 - 5k 443+ 167
B d
(&) 18
(B) 63
(C) 12
(D) o

‘CREATIONS' 7152 % 3erl & 5 773
ST ¥R TR =it -

(A) ACTION
(B) REASON
(C) ARSON
(D) SEPARATE

13
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37. wEWiTER ey, Taadt w e

38.

39.

W, TEan g o ‘whEd
A B R, TR oam T wE %
Fusngzds
(a) i

(B) 5=

(C) Fmi

D) &=

Bt (. . 387 40) -t v o st o
wiaTet = e A et e |

(A) 37
(B) vim
(C) weaa

(D) AP

(A) 20

(B) 19

(C) 18

(D) 16

(A) HEIT
(B) iy
(C) =g

(D) BFTEE
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43.
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lii) Arithmetical and Numerical Ability

Tx214+3+2

G

72+ (3%+(22=7
(A) 1

(B) &

(C) O

(D) 12

Which of the following has the
fractions in ascending order 7

18 14 23
A 2T

18 23 14
B) %75

14 23 18

C 3525 2

23 14 19
(D} 25 '15 " 21

Which of the following has the surds
in descending order 7

(AY 15,6, Y200
(B) %=00..6.315
(C) 8 .345 , 200

(O) 345 ,%200,48

45.

46.

47,

When a pen is sold for 7 5, there isa
profit of 7 2. if the same pen Is sold
for 7 10, what will be the profit 7

(A) T4
(B) 6
[C) =7
(D) 25

A tangent is drawn from an external
point to a clrcle of radius 5 cm. If that
point is &t a distance of 13 cm from
the centre of the circle, what is the
length of the tangent 7

(A) 10cm

(B) 12cm

{C) Bem

(D) None of these

Find the fraclion equivalentto 37 % .
" 5

® 3 |

©) %

© 2
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Brax2 1 AT T 1A T 0%
(BY 17 (A) T4 .
(©) 31 (B) 76
(s © 27
72+ (3F+(22=7 (D) 25
(A) 1 :
®) 6 46. 5% 1. Tt ader F a0 g
&5 o u et T = 8 ) 2l = fag
D) 12 adet ¥ ¥z @ 1380 giwe, I
OF e st ot oS S 2 7
fe 1 el R sl R E B 7 A 108,
19 14 23 .
B st (B) 12%.7.
19 28 14 (Cy BHE =
® 25 (D) ¥ H 1S e
15725 ' 21 47, 'a?%%#mﬁ'ﬂmﬂml
23 14 1
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v ¥ foer ool ot 1 8 2 @ °
A %5, V6. Y200 °
(B) %z00 46,15 1<) %
(€) 6, %15 Y200 o) 3
(D) 35,4200 , 6 ¢

=15
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50.

a1,

iflog 8 = 0.9031, log 8000 = 7
(A) 19031
(B} 3.2031
(C) 1.8081
(D) 0.9031

What are the elements of the
secondary diagonal of the matrix

Pd?
M=2-EE'::|
2 & g

(A} 7.5.3
(B) 1,5,9
(C) 4,56
(D) 2,58

'O is the cireum centra of the AABC,
If | BOC = 130° find | BAC .

(A) 50°

(B) 55°

{C) &0°

(D) &5”

Theareaofa A is8sq. cm. f the base
155 cm, find its height.

(A) 1.8em

(B) 3.2em

{C) B.4cm

(0} 4cm

16
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52.  The ratio between the volumes of two
spheres is 27 : 8. What is the ratio
between their surface areas 7

(A) 9:4
(B} 6:4
(Cy 3:2
(D) Mene of these

53. How many diagonals can be drawn
in a decagan ?
(A) 45
(B) 40
(C) 35
(D) 30

64, The Eanmalmmﬁn between 7 and

28 s

(A} 11
(B) 12
(C) 13
(D) 14

53. A person casts two fair dice once.
What is the prﬁbabﬂrlyth-atihntﬂtal
of the numbers on the two faces will
be five 7

(A)

@ | ra

| =

(B)

(<)

(D)

D|s -
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48,

51.

uf2 log 8 = 0.9031 % 1, log 8000 = 7
(4) 1.9031
(8) 3.9031
(cy 1.8031
(D) 0.9031

Afean & 39-free] mem w2

[14?
M=i2 5 &8

36 9|

?

(A) 7,5,3
(8) 1,59
(C) 4,56

AABC F1'0' T ih= & | 1R

| BOC = 130° &1 | BAC wa ofifem |
(A) 50°

(B) 55°

(D) 65°

TE A F1 T g7 6, B | uf v
a5 8. H. 2 a1, st S uarede |
(A) 1.6%H.

(B) 3.2,

(C) 6.48.7,

(D) 4%,

7=
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52, @199 % TA%H] W SUE 2783

T TR &G W A
BT 7

(A) 8:4

(B) 6:4

(C) 3:2 .

(D) 3 @ =i =t

o T e Tl s
(A) 45
(B) 40
(C) 35
(O] 30

. 73 28 F o= = wrfifie ope 2

(A) 11
(B) 12
(C) 13
(D) 14

. UE g 29 U T IETea 2 |

w2 vt o gened =
HIE 58P 7

(A)
(B}

(C)

Wl @l= ©|l= @

(D)




How much should a man invest in
7 50 shares selling at 7 60 to obtain
an annual income of 7 900 if the
dividend declared is 15% 2

(A} ¥ 9,000

% JOD-25/PGT-HIST/X-1¢
%
& 58, |If M= Cs, find ‘n". 59. 30 workers, by working 8 hours a day
(A) n=2 require 12 days to complete a piece
(B) n=5 of work. How many days do
B 24 workers take by-wn.-khuq 6 hours a
day to complete the same plece of
(Y n=7
work 7
97. What sum of money should be (A} 20
invested in a 5 years fime deposit (B) 22
accountto obtain an interest of ¥ 250
c) 21
perannum 7 (Hate of interest js 10%) )
{O) 18
(A) 7 2,500
(B} 7 25,000 In a class of 50 students, all the
(C) 712500 students study Science and
(D) = 20,000 Mathematics. In the examination 40
have passed in Science and 34 have

passed in Mathematics, Maturally
some have passed in both Science
and Maths. How many students have
passed In Science anly 7

[A) 24
(B) = 7,500 B 18
{C) =7.200 (©) 10

(D) None of these

(D) None of these
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56. ARNC, ="C 27, 'R

(&) n=2

(B) n=5

(C) n=8

D) n=7

Torartt Trfiy 5 ok wrafa o E

wi form o wfe 9d ¥ 250 = fire
FHEAIE 2 (R 10%)

57.

(A) T 2,500
(B) T 25,000
(C) 12500
(D) T 20,000
58. W ¥ SOFTEN SEUHI T B0 W A= AT

2, o am =09 m wer A
7 00 FPi af Siftm smE 15%2 7

(A) T 9,000

(B) ¥ 7,500

(C) T 7,200

(D) %E & g w

58.

B0.
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30 et Wi fEA 8 o B o wm
12 Tedii 5 qo 0 2 | =t W 24 TE
wfe 5 6w = = 2 fra T
0] T 7

(A) 20
(B) 22
(C) 21

(D) 18

% 50 Frenfiei 3 som § ot framdf
forgm v nfor 1 srerm w # | Hien
5 40 fgrm & 3fiv 34 it v § v
o | i & e s Rl R
3 mifort 25§ o gn 4 | Few fEe
i forert et T g 2

(A) 24

(B) 16

(C) 10
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v) Test of Language : English
TTIT QST ¢ 3T

Directions (Qs. 81 to 85) : In the following
passage there are blanks, each of which
have been numbered. These numbers are
printed below the passage and against each
tour words are suggested, one of which fits
the blank appropriately. Find out the
appropriate words,

There is one great disadvantage to the
village 81 John lives. A main road runs right
B2 it. This road carries lot of traffic and B3 at
night the naise of it does not altogether stop.
In fact, some people in the village complain
that they were often 84 {0 sleep because of
the roar of the trucks. John is BS than some
of the villagers as he does not live on the
main road.

81. (A) by
(B) from
(C) where
(D) that
B2. (A) at
(B) through
(C) for
(D) from

B3. (A) even
(B} their
(G} from
(D) into

84. (A) possible
(B) unable
(C) put
(D} do

85. (A) harder
(B) nicer
{C) narrower
(D) luckier

Directions (Os. 86 to89) : Readthe passage
carefully and answer these questions on the
basis of this by choosing the appropriate
alternative.

So wonderfully is the aimlane shaped that
in flight it will largely take care of itself. |t
always does the right thing, whatever is
necessary to keep itseif flying. Many pecple
think that piloting is a batancing stunt, much
like walking tight rope. Actually the art of
piloting consists of abiout nine-tenth of doing
nothing and trusting the airplane. Many
people think that on the slightest lapse of the
pilot's attantion an airplane will go into a
spin. Actually a stall or spin is brought on
only by heavy misuse of the cantrols,

23
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an airplane stability is its
some parts of the sentencas have errors and

(A) pilot
some have rone. Find out which part of a
(B) shape
© q sentence A), B), C) has an error. |f a seqtence
propeller
i) ol is free from error choose D) as your answer.
Colour

87. When a plane stalls or spins the pilot a0, Mo sooner (Ayhad we set out (B)/

should .
when a thunder storm accurred (C)./
(A) do nothing
Mo error (1)
(B} prepareto gject

(C) restore all contrals to their nomal
! 91. The teacher (A)/said the ciass lo
positions

(D) call for help open {B)/their books at page 40 (C)./

Mo errar (D)
g8, A stall or spin is brought on actually
(A) only by pilots attention g2. Neither the USA nor the UK (A)/are
. (B} by trusting the people the largest democracy (B)/in the
(C) by walking tight rope wwentieth century (C)./No error (D)

(D) by heavy misuse of the controls:
93, Twelvainches (A)imakes (Blafoot (C)J
29, ‘Stall' here means

Mo error (D)
(A) loss of direction
(B) loss of air a4. Speculation is still rife (Aas to (BY
(C) loss of weight whom will captain the Indianteam (C)S
(D) stoppage of engines No error (D)
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25,

A+

Out of the four altemalives choose the
ong which can be substituted for the
given words/sentance.

One who doesn't know how 1o read
and write,

(a) literate
(B8) illegible
(C) iterate
(D) illegal

Given sentence is in Active Voice.

Select the alternative which best

expresses the same in Passive Voice.
Hamlet was written by Shakespeare,
(A) Shakespeare had written Hamlet
(B) Shakespeare wrofe Hamlet

(C) Shakespeare wriles Hamiet

(D) Shakespeare has written Hamlet
Name the part of speech of the

underlined word in the following
sentence.

So it happened.
(A) Noun

(B} Pronoun

(C) Adjective

(0} Verb

98,

a9,

100.

JDD-25/PGT-HIST/X-14

Choose the word that is mostnearly the
same in meaning lo the given word :

‘Feeble’
(A} fierce
(B) frail
{C) feasible

D) feed

Choose the word that is most opposite

in meaning to the given word

‘Awake'

(&) Casual
(B) Careful
(C) Asleep

(D) Appear

Choose the misspelt allernative.
(A) devide
(B) destroy
(C) develop

(D) deviate




101.

102.

103.

SECTION -B
Post Specific Subject-Related Questions

The first thing that primitive rman leamt
was

{A) To make a wheel

(B) To domesticate animals
(C) Tolead a settled life

(D) To make fire

Men of the modern type — “Homo
Sapiens” appeared in the

(A) Mesclithic perod

(B) Upper Palaeolithic period
(C} Middle Palaeolithic period
(D) Lower Palaealithic period

The Palaeclithic man lived on
1, Hunting

2. Fishing

3. Cultivation

4. Food-gathering

Choose the correct answer group :
(A) 1,2,3
(B) 1,2, 4
iC) 2,3,4
(D) 1,3.4

104,

105.

106.

JDIJ-EEI’FET-I-HETII@

Rober Bruce Foote discovered
Palaeolithic stone tool in

(A) 1B57 (B) 1862

(C) 1863 (D) 1821

Match the following ;

a. Palaeclithic age 1. Slone-copper
tools

b. Mesolithic age 2. Polished
stone tools

¢. Neglithic age 3. Chipped
stone tools

d. Chalcolithic age 4. Microliths

Codes :

a b c d
A} 3 2 4 1
| 2 3 4 1
(C) 3 1 4
Dy 3 4 2 1

Which of the following is not correctly
matched 7

(A} Mesolithic period — Microlith
industry

(B) Palaeoclithic period = Wandering
lite
(C) Neolithic period - Settled life

(D) Chaleglithic period — Food-
producing
stage
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Directions : The following guestions
consists of two statements one labelled as
Assertion (A) and the other as Reason (R).
You have lo examine these two statements

carefully and decide if the Assertion (A) and
the Reason (R) are individually true and i
so, whether the Reason is a correct
explanation of the Assertion. Select your
answer to these jtems using the code given
below :

107.

108.

109,

(A) Bothi{A) and (R} are trueand (R) is

the correct explanation of (A)

(B) Both (A)and (R)are true but (R) is

not the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (&) is false but (R) Is true

Assertion (A) : The Himalayas are
responsible for making the Indo-
gangelic plains a vast well watered
gardari, swarming with papulation,

Reason (R) : Thiz was the reason for
Aslan nomadism.

Assertion (A) ; In Bronze Age the
urbanisation took place.

Reason (R) : The disparity betwean
the rich and poor grew.

Assertion (A) @ Ahar practically did
not use microlithic tools, stone axes
or blades but copper objects.

Reason (R) : Art of smelling and
metallurgy was known to the people
of Ahar from the very beginning as

copper was locally available.

110.

1.

112,

113.

114.

JDD-25/PGT-HISTACR

Assertion (A) : The Indus people did
nol use meatal monay.

Reason (R) : Thaey did not have the
technology to make metallic coins.

Assertion (A) : The Indus people
worshipped Mother Goddeass.

Reason (R) : Excavations at several
Indus sites reveals that Indus people
worshipped figures of terracota
representing Mother Goddess.

In which of the following respects, the
various Harappan sites have marked

unifarmity ?

(A) Agricultural practices
(B) Crafis

(C}y Town planning

(D) Seals

The largest number of Harappan sites
in post independence India have
been discovered in

(A) Gujarat

{(B) Punjab and Haryana
(C} BRajasthan

(D) N.W. Uttar Pradesh

The metal most widely used by the
Indus Valley people was

(A) Copper

{B) Bronze

(C) Geld and Silver
(D) Tin
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117.

118.

118.

Who worked on the decipherment of
the Indus Script 7

(A) L Mahadevan
(B} H.D. Sankalia
{C) V.D. Smith
(D) B.B. Lal

Which of the following was not a
contemporary of the Indus or
Harappan Civilization 7

(A) Egypt
(B) Mesopotomia
(Cy Sumer
(D) Greek

One aspect of the Harappan life which
formed the basis of the Harappan
system, but about which very little or
nothing is known as

{A) Rural life

(B) Cattle breeding

({C) Transport and communication
(D) Demographic patterms

Whio of the following suggested that
Aryans onginally lived in Central Asia 7

(A} Prof. Macdonell
(B} Bradenstein
(C) Max Muller
(D) Sir William Jones

The Battle of Ten Kings was fought
on the bank of

(A) Sulle]
(C) Sindhu

(B) Jhelum
(D) Ravi

120.

121.

122.

JDD-EE;’PGT—!‘HET.*I*%
v

‘Askini' is the ancient name of which
river 7

(A) Saraswati
(B) Beas

(C) Chenab

(D) Ghaggar

L

Which of the following Vedas is the
pidest 7

(A) Rig Veda
(B) Sama Veda
{C) Yaiur Veda
(D) Atharva Veda

Match the following :
Vedanga Subject
a. Kalpa 1. etymology
b. Nirukta 2. grammar
c. Vyakarana 3. ritual
d. Siksha 4. pronunciation
Codes :

b c d
{A) 3 1 4
(B) 1 T R
(C) 4 3 2 1
Dy 3 4 1 2
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120, FEgadmrE An sEEE a7

(ay weEf
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124.

125.

126.

Ar

_ Theterm “Vedanta” is usad for which

Vedic text 7

{A) Aranyakas

(B) Upanishads

(C) Brahmanas

(D) Smritis

The name “Aghnya” (not to be killed)

mentioned in many passages of the.
Rig Veda applies to

(A} Priest

(B) Women

(C} Cows

(D) Brahmanas

Which Sutra deals with the rules
relating to big sacrifices 7

(A) Dharmasutra

(B} Grihyasutra

(C) Srautasutra

(D) Sulvasutra

Match the following :
Officer Function
a. Suta I. Treasurer
b, Samgrahitrl |l Carpenter
¢. Bhagadugha lll. Collector of taxes
d. Takshan V. Charioteer
Codes :
A b ¢ d
@ movon
B m n | ")
N 1 m i

©y W

127.

128.

128,

130.

131.

JDD-E’HFGT—!-IET;:L@ !

The ploughed land in the vedic period
was termed as

(A} Urvara

{B) Yava

(C) Dhanya

(D) None of the above |

The four fold division of society is
expressly mentioned in

{(A) Yajur Veda

(B} Satapatha Brahmana

(C) Hiranyagarbha-sukta

(D} Purusha-sukta of Rig Veda

Prot. Jacobi is of the view that
Rig Veda musl have been written in

(&) Before 1000 B.C.

(By 2" Century B.C.

(C) 1200 B.C.

(D) Third millennium B.G.

In which book the lending of money
on interest is condemned 7

(A) Dharmasutra
(B} Ritisutra
(C) Buddhist text
(D) Jain text

According to Puranas who was the
iounder of the Magadhan dynasty 7

(&) Bimbisara
{B} Shishunaga
(C) Brihadratha
(D) MNone of these
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Whao was the lasl ruler of Nanda
dynasty, dafeated by Chandragupta
Maurya 7

{A) Ugrasena

(B) Dhan Nanda

{C) Das Siddhak

(D) Mahapadmananda

Whera was the first Jain Council held
around the third Century B.C, 7

() Vallabi

() Vaishal

(L) Palalipytra

() Jdrimbhikagrama

fucording to the Jaina tradition
Naminatha the 22™ Tinhankara was

relaled to

{(A) Krishna

(B} Udayana

(&) Paraswara

() Bimbisara

Thie sirict followers of Mahavira were
Krown by which nama 7

(A)
(B}
(C)
(D)

Cigambaras

Swetambaras

Brahmacharya

Mone of the above:

Which of the following was the real
nama of Lord Buddha 7

{A) Siddhartha

(B) Tathagata

{C) Gautama

(D) Boudhayan

137,

138.

139.

140,

141,

JDD-EEIPET—I-IETJIE
The first royal king to patfonis
Buddhism was

(A) Bindusara

(B} Chandragupta Maurya
() Ashoka

(D} None of the above

The Abhidhamma Pitaka was
composad in which Councll ?

(A} Kashmir Council
(B) Rajgriha Council
{C) Vaishali Council
(D) Pataliputra: Council

How is Buddha's first sermon at

Saranath described 7

(A} Dharma Pravarthan

(B) Dharma Chakra Pravarthan
(C) Dharma Samagam

(D) Madya Samagam

Which siate was not situaled in the
South during Ashokan empire 7

(A) Chola
(B) Pallav
(C) Pandya
(D) Al of these

Whe was Mauryan King who left the-
throne and became Jaina ?

(A) Bindusara

{B) Chandragupta Maurya
(C) Dasarath

(D) Kunal
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| 142. Which of the _T_ﬂ“ﬂ"g'_"-f_mg statements | 145 Evidence of Roman trade with
J abolt Arthashasira is/are forect2 South India is available from the
1. 1tis a freatise on Mauryan political 2
economy and administration. SRy alians-at
2. Its date and autharship is a fully {A) Arikamedu and Alagangulam
f established fact beyond any 4
controversy. (B) Arikamedu and Kanyakurrar|
| 3. It is divided into 15 Adhikarnas. (C) Kanyakumari and Kodungallur
4. Its evidence is unfartunately not
corroborated by any other source. (B) Alagangulam, Arikamedu and
Select the correct answer from the Kodungallur
codes given below : _ . .
(A) 2 ang4 147. ?ﬁatc:h the :Ir-::-wlng authors with their
iterary works,
(B) dand4 e
(C) 1and2 a. Ashwaghosha 1. Gathasapthasali
(D) All of the above b, Patanjali 2. Sariputraprakarana
143. The Mauryan Civil Servants were c. Hala 3. Mahabhashya
called by the general name of
(A) Amatyas d. Bhasa 4. Bwapnavasavadatia
(B) Rajukas Codes :
(C] Mahamatras a b e d
(D) Lipikaras: A 1 2 3 4
144.  Mark the correct number of spokes in B 2 . i
Dhamma Chakra, G 8 2 1 4
{A} 20 {B) 32 Dy 2 1 4
(C) 30 (D) 24
148. The first epigraphic reference of
145. The term "Dharmasthiva® used by committing Sati (of A.D. 510} has
Kautilya denoted been found from
(A) Educational institition (A) Erau (M.F.)
(B) Religious institution (B) Prayaga (U.P.)
(C} Judicial court (C) Bhitai {U.P.)
(D) Deparntment of revenue (D) Vidisha (M.P.)
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151.
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Which secular work describes
Rama's invasions of Ceylon 7

(A) Gadhayuddha

(B) Setu Bandu

(C) Shapatashalaka

(D Karpoora Manjari

The language of the Sangam
Iterature was

(A) Sanskrit

(B} Telugu

{G) Tamil

(D) Brahmi

Two-storeyed vihar of the rock-cut
order was made at

(A) Karle (B) Bedsa

(C) Bhaja (D) Masik

What is a Prashasti 7
{A) Private endowment
(B) Eulogy of a King
(C) Royal charter

(D) Copper plate

The common coins used in Gupta
age, due to the decline in trade were
(A) Copper {B) lron

{C] Cowries (D) Silver

Wha built the Sudharshan lake of
Saurashtra 7

(A) Chandragupta Maurya
(B) Pushpagupta

(C) Ashoka

(D) Tushashp

1565.

156.

157.

158,

153,
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Which Vakataka ruler married the'
daughter of Chandragupta Il 7
(A) Rudrasenall (B) Rudrasena |
(C) Narendrasena (D) Pravarasen:

Forced labour during the Gupta
period is referred 1o as

(A) Vishti (B) Shudra
(C) Vaisheshika (D) Vali
Kalhana's Rajatarangini is a historical
work on 4
(A) Malwa
(C) Vaishali

{B} Kashmir
(DY) Patalipuira
MName the river, on whose Bank was
the city of Vijayanagara located.

(A) Kaveri |

(B} Krishna

(C) Wainganga

(DY Thungabhadra

The founder of the Shatavahana
dynasty s

{A) Simukha

(B} Yajnashri Satakarni

(C) Pulamayi|

(D) Sri Shatakami

The Pandyan empire was finally
absorbed into the

(A) Sultanate of Delhi
(B) Vijayanagara

(C) Chera

(D) Mughal empire
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A

The Rashtrakutas were the

sucoessors of the

(A) Vakatakas

(B) Chalukyas of Kalyani
(C) Chalukyas o Badami
(D) Pallavas of Kanchi

The temples found in Afhole are

1. Meguti Shivalaya

2 Ladhkhan temple

3, Jain temple

4. Durga temple

5. Huchimalligudi
Choose the correct answer group.
(&) 1,2,5 (B} 2,3, 4ands
(C) 1,2and4 (D) 2,3and3

The Khajuraho temples were built by
(A} Chalukyas (B) Chauhans
(C) Paramaras (D) Chandelias

Albaruni visited India with which
Mushm invader ?

(A) Mohammud of Ghazni
(By Mghammad Ghori

{C) Mohammad-bin-Casim
(D) None of the above

Raziya was close 10 which of these
nobles 7

(A) Qubacha

(B) Jalaluddin Yakut
Gy Masiruddin Mahmud
(D) None of these

JDB—EEJ’PGT-I'ITSTH'-‘I;

166 When Taimur invade, which dyrasty
ruled over India ?

(A) Lodhi
(Cy Salyyid
Shar Shah is considered to be the

tore-runner of Akbar in administration
because

(A} his administrative policies were
adopted by Akbar

(B) he ruled before Akbar
(C) he trained Akbar in administration
(D) he supervised Akbar's agministration

(B) Tughlaq
(D) Khilji

1867.

\Who built the precious Pillar of Chitior
(Kirti Stamba) 7

(A) Rana Kumba (B) Rana Sanga
(C) Rana Maldev {D) Mone of these

168.

Lakh Baksh was the fitle of
{A) Aibak

(B} Balban

(C) ltumish

{5] Jalal-ud-din-Yakut

169.

Ahmed Shah Abdali belonged to
which clan 7

(A) Irani
(C) Afghani

170.

(B} Turani
(D) Duran

Krighnadevaraya pelonged to the
tA) Sangam dynasty

(B) Saluva dynasty

(C) Tuluva dynasty

(D) Aravidu dynasty

171.
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172, The Bahmani Sultan who shified the 177. Maich the List— I with List- Il
capital from Gulbarga lo Bidar was List—1 List |l
a. Franciscode 1. Encourage
. Al WUNGEas aseg Almeida his fellow
(B) Ahmad Shah countrymen to
(C) Nizam Shah marry Indian
WOmen
(D) Mahmud Shah b. Alfenso de 2. Blue-waler
Alo
173. Putincorrect chronalogical sequence, N policy
the successars of Shivaji ; ¢. Nino da Cunha 3, Transferred
: Porluguese
1. Sahu capital from
- 2. Shivaji ll Cochin to
3. Rajaram Goa
- d. Martin Alfonse 4. Famous
£, Stmatioy de Souza Jesuit Saint
, 5. Ram Raja Francisco
_ _ Xavier
Choose the correct answer group . accompanied
(A) 4,3,2,1,5 (B) 2,1,53,4 him to India
- a b [ d
C) 54,2 1,3 (D) 1.2.3,54
(C) . (D) 1,23, i : e
174. Which of the following was the 8 3 2 1 4
founder of the house of the Peshwas 7 ey 2 3 4
(A) Parashurama Trimbak Dy 4 2 1 3
(B} Ramachandra Pant 178. Guru Nanak's concept of religion was

(C) Balaji Vishwanath
(D) Balaji Bajirao

(A) Severely practical
(B) Ethical
(C} Both (A) and (B)

1756. Under Zabti System the most lertile
land was classified as (D) Purely spiritual
Uy Pol {Hhy R 179. Who builtthe Jama Mosque of Delhi ?
(C) Chachar (0 Banjar (A) Akbar
176. Vascoda Gama reached Calicul In {B) Qutub-ud-din Aibak
(A) 1498 A.D. (B) 1480 A.D. (C) Jahangir
(C) 1492 AD. (D) 1463 AD. (D) Shahjahan
Ax A2
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180. What was the griginal name of
Tansen 7

(&) Makaranda Pande
(8) Baz Bahadur

(G} Lal Kalwant

(D) Ramtanu Pande

181, Whao isthe author of My Experiments
with Truth' 7

(&) Jawaharlal MNahru
(B) Mahatma Gandhl

(C) Rajendra Prasad
(D) Sardar \Vallabhabhai Patel

182, Who gtarted the Modern Local
Salf-Government 7

(&) Lord Inwin

(8) Lord Ripon
(C} Lord Gurzon
(D} Lord Auckland

183, In whose tenure the capital of India
was transierred from Defhito Calcutta 7

(A) Lord Minto

(B) Lord Hardings

(C)  Lord Curzon

(D) Viscount Chelmaford

184, The Royal Indian Navy was
established in

(A) 1930 |y 1831
(C} 1934 (D) 1936

1B5.

JDD-25/PGT-HISTIX- {

The play Neel Darpan was written by
(A) M.G. Ranade
{B) Deen Bandu Mitra

(C) Rajaram Mohan Roy
(D) Ishwar Chandra Vidyasagar

187,

188,

189.

190.

cannacted with

186. The Strachy Commission was

{A} The Vvemacular Press

(B) Famine
(C) Education

(D) Local Saf-Govamment

Who sald “Go back to the Vedas™ ?
(A Dayananda Saragwall
(B) Rajaram Mohan Boy

(C) Vidyasagar

(D) lshwar Chandra Vidyasagar

The Trade Union Act was passed In

(A) 1926 (B) 1930

(C) 1939 Dy 1941
Queen’s Proclamation was passedin
which month of 1858 7

(A) April (B) June

(T} August (D) September

How many Home Rule Leagues were

tormied in India in 1916 7

(A} 2
(C] S

(B) 4
(D) MNone
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191. Match the following :
a, Quit India 1. 1827
Movement
b, Simon 2. 1820
Commission
c. Khilafat 3. 1842
Movernan
d. Montague 4.1918
Chelmstord
a b c d
(A) 1 2 3 4
B) 3 1 2 4
C) 4 3 2 1
(D) 3 4 2 1
192. Where was the historical case settled
upon INA 7
(A) Inthe Fort William, Calcutta
(B) Inthe Red Forl of Delhi
(C) Inthe Centra! Hall of Parfiament
(D} Ina Warship Near Bombay
193. The main inspiration behind Five
Year Plan was
(AY USSR (B) USA
(C) UK (D) MNone
194, Match List | with List 11,
Listl Listll
a, NAM 1. UK.
b. Non-Aggression 2. US.A
Pact
¢. Unipolar World 3. U.S.S.R.
d. Commonwealth 4. Yugoslavia
Codes :
a b c d
(Ay 1 2 3 4
8y & 4 2 i
() -2 3 4 1
D)y 4 3 2 1
A

195,

198.

197.

198.

184.

200,
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In which year China usurped Tibet ?
(A) 195D (B) 1957
(C) 1958 (D) 1860

Mationalism of Banks was dong in
(A} 1969 (B) 1985
(C) 1970 (O 18971

Who wrote ‘Hind Swara|' ?
(&)} Bal Gangadhar Tilak
(B} Vinobha Bhave

(C) Chandra Shekhar Azad
(D) M. K. Gandhi

Pandit Nehru was a believer in
(A) Isolation

(B) Adult Franchise

(C) Hindu State

(D) None of the above

Indian Agriculture can be
characterised as

(A) Progressive

{B) Subsistence based
{C) Technically rich

(D) Production for market

Which was the area of dispute
between India and Chiina ?

{A} Burma (B} Uttar Pradesh
(C) Tunjun pass (D) Tibet
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Freafert i .
a. YAaae 1.1927
HARETA
b. AFEAENTE 2 1920
c. Tawmeg @idem 3. 1942
d. Hfeg 4,1919
S
a b c d
(A) 1 2 3 4
B) 3 1 2 4
iC)y 4 3 2 1
(D) 3 4 o 1
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a b c d
(A) 1 2 3 4
(B) 3 4 2 1
© =2 3 4 1
m 4 3 2 1
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